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Name:

Congruent Triangles
1) Given: DB bisects ~apc and BD bisects ~aBc

Prove: naABD =icBD
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~E =~.c, ~.EDA = ~cpB and D is the midpoint of EC

UDAE =1DBC
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~DBC = .GFD and AE bisects B at D
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Given: AEC and DEB bisect each other, FEG intersects AB at G and CD at F.
Prove: E is the midpoint of FEG
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5)  Given: BC =BA and BD bisects cga.
Prove: DB bisects cpa .

6)  Given: UAME ~1BMF and DE =CF
Prove: AD =BC

Given: AEFB, AE =~FB, DA =CB , and ~A and B are right angles.
Prove:

1) UDAF =cBE

2) DF =CE

A E F

Given: ABCD , BAE = ~/CBF , /BCE = .CDF , AB =CD
Prove: AE =BF and E = ~F
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